1. Solve the subtraction problems below,
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2. David drives from Los Angeles to San Francisco. The total distance is 617 kilometers. He has 468
kilometers left to drive. How many kilometers has he driven so far?
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3. The piano weighs 289 kilograms more than the plano bench. How much does the bench weigh?

297 k9

b e it ) = =
sl 212 Ekg

na.-agj

5 The bench weighs S’kj.

4, Tank A holds 165 fewer liters of water than Tank B. Tank B8 holds 400 liters of water, How much water
does Tank A hold?
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Tank A holds 235 liters,



